A1

1.1 A&

-
1o

ol
ar

X

oJ
o}
ok

ol
0

O
I

X

20 Hi| ALl JHgE o &

X

oJ
o}
oF

JIJ
ol
KO

X

=H X
[ R

12l OH

X

1, A, M, JA, =

* B

JI

Het 1 =c2l&E 20|

X
2|

o %3

a

Ay

S

0l
0

ol
160
A0

X



ol

9]

N
JR
o

HO
&
o

Ha utH

e

(RAS &S HAWE)

— | 222 (modeling)

v

oA CH&H(objective)
A2 € (physical model)
4 «—DI} & (assumption)

Ol At3t(idealization) :

N EEERNEEEE
Ol&at3at & 2 (idealized model) osloA oo
= a2 (analytical model)
vy +—=2|¥ = (physical laws)

Al formulation)
4529 (mathematical model)

l

ol & (analysis)

l

I Jl(evaluation)

|

=

1 Yes

dEEIE

1) SLU6H Bt (analytical method, exact solution)
2) ZEEO 2olst g (computational method)
1) &0l 28 ZH=(physical experiment)

2) JIES| ZEE O0IE0|Lt HARZNC| HE

0l

29 1.1 g8 (Ad @) s34



1.3 &2/
¥ 1.1 95to] AFEH = SI @4

2 ¥ REHR=Z
=R = el 018 ol & . NI
Z 0| Ol & m L
2= &gt 220 kg M
Al 2t = S T
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10-12 pico D
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zF=0 (1.27)
zM=0 (1.28)
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(1.29)
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